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QUESTION 1

A protocol state machine can be used to describe which aspect of a component? 

A. internals of a component 

B. configuration of an assembly 

C. signal flow among connectors 

D. external contract of a component 

Correct Answer: D 

 

QUESTION 2

In the exhibit, what is true for Mcritical? 

A. r can be sent whenever p has been sent. 

B. The reception of p must precede sending of r. 

C. Whenever q and p have been sent, r can be sent. 

D. There are legal traces according to Mcritical where r is absent. 

Correct Answer: B 

 

QUESTION 3

In the exhibit, what applies if the interaction constraint is false when the loop is entered? 
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A. The specification is illegal. 

B. All valid traces will include message r. 

C. The loop body is not included in a valid trace. 

D. Valid traces include both the case where the loop iterates once, and when it iterates zero times. 

Correct Answer: B 

 

QUESTION 4

What objects receive a signal sent by a BroadcastSignalAction? 

A. all objects 

B. objects are determined by semantic variation 

C. all objects that have a reception for the signal 

D. objects that are on the same node as the actions 

E. objects that are instantiated from classes in the package of the action 

Correct Answer: B 

 

QUESTION 5

An encapsulated classifier is characterized by which fact? 

A. has an encapsulation shell 
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B. can own one or more ports 

C. hides information from other classifiers 

D. acts as a package and can own one or more classifiers 

Correct Answer: B 
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